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CLTD CLTD
CLTD , , ,
(S15000) ,
, (5170
00) .
(21) (30) DB(15) , ,
, , , , , , , , , , /
At , At ,
At , ,
: : At :
At , ,
. (Spec.) (519000)
8 .
(10) (21) :
(30) DB (Loading) (511001)
, (511002) ,
0 (511003) 0 (D
(511004),
=( + 1000) *+
=17 e (1
0
(S11005).
, 0] 0 0 ,
(30) (511006).
9 . 9
: (21) (30) DB(15) : :
(S12001), , : , , ,
(512002), (tabs) 273.15 ,
(tabsl) 273.15 (S12003).
0 (S12004) ( 2
(S12005).
E3 571 = (EXP(-5800.2206 + tabs + 1.3914993 - 0.048640239 * tabs
+ 0.000041764768 * tabs™2 - 0.14452093E-7 * tabs™3
+ 6.5459673 * (LOG(tabs)))) <+ 1000
——————————————— ( 2
0 (3
(512006).

E3F71Y = (EXP(-5674.5359 + tabs + 6.3925247 - 0,009677843 * tabs
+ 0.62215701E-6 # tabs™2 + 2.0747825E-9 * tabs™3
+ 9.464024E-13 * tabs™ + 4.1635019 * (LOG(tabs)))) + 1000

_______________ ( 3
tabs tabsl

0 :
( 4 (S12007).



AYEFE = 0.62198 + (7|3 dAdSEE « £3857|%) + ((101.325
- Y7 AHRNUEE « E5E19) 2 100 ) * 100)
Ay = (0.24 * 7P HFLE) + (597.5 + (0.441 * Q7|3 FHL5))

10-0453559

--------------- ( 4
10 11 / / .
10 (21) (Glass Zone) (NULL) (5130
01) NULL (SCL) NULL (S13002), NULL
DB ( ) (S13003). (LOOP)
(S13004) (S13001) (S13004)
9 6 .
, (RAD) sin, cos ( 5 (513005).
P =Pi() + 180
casin = sin(A= * P)
cacos = cos{Y = * P)
sosin = sin(AY2% * P)
socos = cos(AYL&= +«pP) ( 5)
( 6) (S13006).
BloFi1=9) g = asin(cacos * socos * c0s(0.25 * 12 ~ A|ZFH) * 60 = P
+ casin * sosin) * 180 <+ Pi()
--------------- ( 6
12 (S13007) 12 0 (S13008) 12
(S13009) (7 (513010).
FAA(sum) = acos((sin(N XL =% A = P) * sin($= * P)
- sin(AWL= * P)) + (cos(B|UZA=gA * P)
* cos(YXE * P))) = 180 + Pi()
LS = FAASm) * (1)
--------------- (7
12 ( 8 (S13011).
A A (sum) = acos((sin(B|FZtE7MA * P) * sin{$ = * P)
- sin(AW&X * P)) + (cos(H|¥LG=FA + P)
* cos(R]5 % P))) * 180 + Pi()
BT = 724 (Sum)
--------------- ( 8
(S13006)  (S13012)
11 (9 (513013),
N = H¥E9 - 180
NE = ejobd9] - (-135)
E = #¥ds - (-90)
SE = {9 - (-45)
S =H¥IH -0
SW=dEFH - 45
W= HFgH - 90
NW=EH°J‘%}-?4 -3 ( 9)
90 < ABS( ) < 270 (S13014) ABS((TAN( ) * P) >= 180
(513015) ABS(TAN( ) * P) (513016),
NULL (S13017,13018).
, 90 < ABS( ) <270 (513019) NULL (513023),
(TAN( ) *P) = (cos( ) * P) >= 100 >=0 (513020)
NULL (513022) (TAN( ) * P) * (cos( ) *P)
(S13021).
(513024) (513014) (513024)
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12 / / CLTD .12

(21) (30) (Type), ,
, NULL (S14001) N

ULL ( 10) CLTD (S14002).
8] 7] 2CLTD = A|ZFOPECLTDE + ((25.56 - AUYLE) + dAT2%
' - (A + 2) - 29.44)

NULL (S14003) NULL ( 11)
CLTD (514004).
A 871 2CLTD = AZAPACLIDR + ((25.56 - AU %) + YAFTLE
- (Yuzt + 2) - 29.44)

NULL (S14005) NULL ( 12) C
LTD (514006).
W7 Z&CLTD = A|ZFECLTDRE + ((25.56 - AW Ly) + AT LxE
- (9m:A £ 2) - 29.44)

——————————————— ( 12)
NULL CLTD NULL (514007,14008,14009).
(514010) (S14001) (514010) .
13 18 .
13 , , CLTD .13 , (21)
(30) DB(15) , , : , , , (
Kw) (S15001), , . ,
(515002) , , , , , (Factor),
(Glass zone), , (S15003)
, 8 (515004), , , NULL (S15
006,15007,15008) , , CLTD (
13) (515009),
CLTD = * * At - ( 13)
CLTD ( 14) (S15010),
CLTD = * * CLTD + ( - )
——————————————— ( 14)
CLTD ( 15) (515011).
CLTD = * * CLTD +( - )
——————————————— ( 15)
, , NULL (S15012) .
(S15012) (S15005) (S15012)
14 CLTD
(21) NULL (515021) NULL ( 16)
CLTD (515022),
CLTD= * * CLTD +( - )
——————————————— ( 16)
, NULL (515023) .
NULL (515023) NULL NULL
(515024) NULL (30)
( 17) (S15025),
= * * /! emmm——— ( 17)
, NULL 10 11 (515026).
, NULL (S15023) NULL 17 (S15061)
15 2) 0 0
(S15031) 1, 2) O 0
(515032) (S15033).
( 1)* > + =0 (515034)
, ( 2)> ( 1)* (515035)
- ( 1= + ( 2) (515036).
=0 (515037)

(H* > +
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, ( 2)> ( 2)* (S15038)
- ( 1)* + ( 2 (S15039).
, 0 0 (S15031) (
S15034)
, 0 0 (S15032) (S150
37) .
( 1)* > + ( 2 =0 (S15034)
0 (S15040), (S15037) .
( 2)> ( 1)* (S15035)
(S15041)  (S15037) .
( 1)* > + ( 2 =0 (S15037)
0 (S15042) (S15039)
, (2> (2= (S1
5043).
16 (1,2) 0 0 (s1
5051) (S15052).
(1) * > + ) =0 (S15053)
2 > 1) * (S15054)
- ( 1)* + ( 2 (S15055).
0 0 (S15051) (S15053)
(1) * > + 2 =0 (S15053)
0 (S15056) (S15058) .
: > * (S15054)
(S15057) (S15058)
15 ( 18) (S15058).
FHEs = FFYHl + FREol
2 A = 2 A A g
A H$CLTD = AAAS + 294
Ao gt LAF HLCLTD = (A3 - 244F) « AT
--------------- ( 18)
(S150509) 14 (S15023)  (S15059)
17 NULL
(S15061)
(S15062) NULL
(S15063) NULL (S15064), NULL
(30) (S15065).
(S15066) NULL (S1
5067) NULL ( * ) ¥ 1000 (S15068) NULL (
30) (S150609).
(S15070) ( * ) %1000
(S15071) 0 (S15071).
, NULL (S15061)
18 (S15081) .
(S15072) 0 (S15066)
(S15073) 0 (S15070)
, (S15074) 0 18 15081(S)
18 , 0 (S15081) O
,0 , (t) 275.15 (S15082).
(30) .
(30) 0 (S15083)
( 19, 20)) (S15084,15085).

Aol oxt 2 v F7IY =

(EXP(-5800.2206 + t + 1.3914993 - 0.048640239 * t
+ 0.000041764768 * t~2 - 0.14452093E-7 * t"3
+ 6.5459673 * (LOG(t)))) + 1000



Aol 08 S W FI1% =
(EXP(-5674.5359 + t + 6.3925247 - 0.009677843 * t
+ 0.62215701E-6 * t°2 + 2.0747825E-9 * "3
+ 9.464024E-13 * t™4 + 4.1635019 * (LOG(1)))) + 1000

( 21) (S15086).
AYEE = 0.62198 * (AUEPAEE + P) = ((101.325
- At diEE « P+ 100) * 100)
--------------- ( 21)
P ( 19,20, 21) .
0 (S15087) 0O 0
* * (S15089), 0
0 (S15090).
, 0 (515087) 0O
0
( 22) (S15092).

AYA7)(FYD) = 0.24 * 1.2 = AF » (YPATLE - AYyPwres)
HAYYZ1(FE) = 1.2 *» 597.5 * AH » (APFE - A2H)

--------------- ( 22)
13 18
19 22
19 , (21) 13
8 (S17001,17002).
NULL (S17003) NULL
N NE  (S17005), E NW  (S17006),
w SE (S17008)
(S17009,17010,17011,17012,17013).
, NULL (S17003) NULL 21
20 , A
( 23) (S17024,17025,17026).

AERMY) = A4 « EFFE « Y
HEAD) = A3 = GHAFE « PHAF » (PFEURE - AT EE)
AEEE) = A3 =« dAFE « FAAF » (PFEULE - SPATLE)
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(S15088) 0

(S15091).

(S17004),
S SW  (S17007),
1,1.2,1.5,1.05, 1.1

(S17031)
(S17021,17022,17023)

--------------- ( 23)
(S17027) 19 (S17003) (S17027)
21 , NULL (S17031) NULL
N NE  (S17032), E NW  (S17033), S SW  (S1
7034), w SE (S17035) 1.2, 1.15, 1.05, 1.1
(S17036,17037,17038,17039), ( 24) (S17040).
- * * -k( _ )
--------------- ( 24)
(S17041) (S17031) (S17071)
, NULL (S17031) NULL (S17041)
22 , NULL (S17051) NULL NULL
(S17052) NULL * * (S17053),
NULL 0 (S17054).
, NULL (S17051) NULL (S17055).
NULL 0
( 25) (S17056).
AP (HE-AD) = 0.24 1.2 + AH - (AYhFATLE
- AYIPATLE)
--------------- ( 25)
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(S17057) 19 (S17003) (S17057)
23 35 .23
(21)
, : , , , / :
(30) DB(15) (S19001).
(S19002) ( 26)
(S19003),

WERE = AFH(AD) + AFF (D) + AF + 717] + (L) 2 100)
ATHIAR) = AF » (Q+HAE) + 100) * (AFHSHE + 100)

, 0 (519004).
NULL (519005) NULL , ,
(819006 19007,19008) (ROOF)
(HROOF) (519009), (WALL)
(HWALL) (519010), (PAT) (HPAT)
(519011).
NULL (519012) NULL (GLASS)
(HGLASS) (519013).
NULL (S19005) NULL (519012)
NULL (519012) NULL (S19014)
(S19014) (S19005) (519014)
24 , (519020),
(519021), (519022), (519
023), (519024) (519025)
(519032) ( 27, 28, 29, 30, 31,
32) (819026 19027,19028,19029,19030,19031).
R IR EK L
sl = WALL + ((1+2F4 &) + 100)
Qe E = HWALL » ((1+¢Hd &) + 100)

rE G HE A 8
PR = AHA DA AEEL + PAT *+ ((14+24AE&) + 100)
FrE R sl = AUGYESE + HPAT + ((1+2038) + 100)

A GG RE A S

A5 3gRe = APEIFFE + ROOF + ((141A &) + 100)

A g E = AEWE SR8 + HROOF = (1A &) + 100) ___
frE @yt a g

el ael = AlZbEPubE s + GLASS * ((1+9H3A &) + 100)
fredgyel = AzbEdRE + HGLASS * ((1+¢+4&) + 100) __

AR 71 P31 A &
AYY71(dq) = AEgdHa + FAYr1(FL
AAPY7[(FQ) = AR PLH3 + AYY7](FR)
A7 gt = AddgHe + 29979 ¢
AA G FEH4§
AAF L3 = AZPEJAAN Y-8} + AA(AE) + AT
717] * ((1+2t4 &) + 100)

AXIAL = QAP « (144 )) + 1000 _________ ( 32)

(519032) (519020) (519032)

--- ( 28)

-( 29

- ( 30)

, (19033)
(S19034) 23 (S19005) (S19034)
25
(S19040), 0 (S19041) 0
( 33) (S19042).
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(S19043),

a4449 &) + F27

(

34)

(S19044).

% o
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*
WEEste] ¢ = (A8 TX7] 7F « AE WRFE) + Fx7) %Y &
AZHE @Rl g = (A FR7) % o« APE A8 WREh) + 32
7] %Y 3
W RE = (A F271 F o+ A GHRE) - I B9
--------------- ( 34)
26 , (519050,19051)
, (519052).
, , (519053).
0 (519054) 0 ( 35)
(519055).
= *( D T T —— ( 35)
, 0 0 (S19056).
27 At , 0 (S19060)
0 0 (519061), (519062).
NULL (519063) NULL 100
, 100 (519064).
(30) NULL NU
LL (519065).
, (S19066) At NULL (S19068),
(519067) DX
(519069) At  NULL (S19070).
) NULL (519071) NULL
At (S19072), NULL At NuULL
(519073).
28 At At , (519080)
NULL (519081), ,
(519082) (519083)

(519084), NULL (519085) At

NULL (519086),
At (519087), (30)
, (30)

(519088).

, (30)

(519089).

(519090) NULL (
$19091). , (519092)
(519093) (519094),
, NULL (519095) At  NULL (S19096),
At ,
(30) (519097).
, (30)
At (30) NULL (S190
98).
, (30) ,
At NULL (S19099).
29 At , (519100)
NULL (519101). ,

(519102) (519103) (
$19104), , NULL (519105) At N
ULL (5191086), At

NULL , (30)
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(519107).
(30)
NULL (519108).
, (30) :
At , NULL (519109).
(S19110) NULL (S19111),
(S19112) (30)
(S19113).
30 , NULL (
$19120) NULL , : NULL (S19121) NULL
(30) (S19122). ,
(S19124) , (519125)
(30) (519126).
(S19127).
, , , NULL NULL , , (30)
(519128) (S19124)
, (30)
(519129) (S19127)
NULL NULL (519130),
DX (S19131).
, NULL (519132) NULL NULL (s1
9133), NULL ( 36) (S19134).
= = (0.31* ) ————— ( 36)
31 , , At NuULL (S19140) NULL
At (S19141), At  NuLL NULL
(S19142). , NULL At NULL (519143) NUL
L At NULL 0 (S19144), NULL ( 37)
(519145).
= + (0.09 * Aty - ( 37)
32 At , ( 38) (S19
150),
- * = 3670 * *
—————————————— ( 38)
, BLOW / (S19151) BLOW /
0 (S19152) At
(519153), DRAW (S19154) DRA
w (S19155), At ( 39
(519156).
At=(( +1)* (1- ) * 860 * 0.8) = (0.29 * )
—————————————— ( 39
, BLOW (519151) At 0 (S19157)
(519160) :
, 0 At o (S19158)  , (S19160
)
, DRAW At ( 40)
(S19159) , (S19160)
At=(( +1)* (1- ) * 860) * (0.29 * )
-------------- ( 40)
: ( 41) (
$19160).
HZPLLEM) = L - da ¢t - AGAt - F7|HA ¢
HAYL=(TA) = T + 273.15
A 2X(TAD = L= + 273.15 —— ( 41)
33 : ( 42, 43)

(S19161,19162).
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¥3}F7]19 = (EXP(-5800.2206 + TAl + 1.3914993 - 0.048640239 * TAl
+ 0.000041764768 * TA1™2 - 0.14452093E-7 * TA1™3
+ 6.5459673 * (LOG(TAL)))) = 1000
AUFE]L = 0.62198 * (YHAUdEFE * S719( + ((101.325
~ A UEE « F71% + 1000 100)
Ag1 = (0.24 « PIL5) + ((597.5 + (0.44]1 = YF2%)) «AUHFELD)
-------------- ( 42)
F557]912 = (EXP(-5800.2206 + TA + 1.3914993 - 0.048640239 * TA
+ 0.000041764768 * TA™2 - (.14452093E-7 * TA™3
+ 6.5459673 * (LOG(TA)))) + 1000
AdExl = ((1-8E0) = A2yl + 597.5 - (1-8GH]) = 0.24 ( (T
+ AQEAt + F71HMA t) +597.5 - Adi&EE) = ((1-d<Ey])
* (597.5 + 0.441 = (T + ABA t + F7]9A t)) + 597.5 -1)
AFT1 = (101.325 » AUIFE2 + (F7142 * 0.62198 * HAFE2)) = 100

At o (519163) 0 0 (S19164).
34 , : (519170,19
171) ( 44) (S19172),
F71% = YE o & - W55 & < (0.29 =« WA 1)
ABANETE = (ANAERES Hdg - AFF3) + (0.29
» Ay AN & - AT £ (0.29 * V1)
-------------- ( 44)
( 45) (S19173).
B2 = AEYTAAZ - A5HE] F o+ (0.29 « ¥PA t)
AEANTE = (A AN g - AFHE) + (0.29 * F7%)
-------------- ( 45)
(S19174).
0 (S19175) 0 0 (S19176), 0
(S19177).
0 (519178) 0O 0 (519179), 0
(519180).
(S19181) (519175) (519181)
( 46) (519182).
AUNFHSE = AFAF ALY o« S
Ao FA4t = 4 AHARY 3F o« AAE
WE A% 3 = A% & + AyFRY
H71AMAY = F71989 89S & « GAE
B71MA%e 3 = AHHLY 7+ F71BAS
71U = YAAE § o« A&
@71 o = AHAS%Y 3 + Fr)AAS
F7IHEAY = EAcke] o + SV 4 &
F71HEARSL = BU|YEAR]
-------------- ( 46)
35 (SPEC) , / (S19190)
/ (519191) (
$19192), / (S19193) ( 47, 48)

(S19194,19195).
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A7) A = FNEF

AR AY = Br|HEAY

RHASL = &7]HAE + 100

ZHIAE = (F/79LAE + 100) + 100

B3y = (3571 « B7/9A3Y% + ((6120 = 60) + E&) + AHE) + 1
71929 = @71 +» 7|94 « RE I

7719 = §71%%

2EHEE = F7]9aEE + 100

BEEAE = (F71MAAE + 100) + 100

RE Y = (F7)5F « F7)9A4% + ((6120 = 60) = TE) » +AE) + 1
B9 = F71%F + FU)HAY + BE Y

10-0453559

-------------- ( 48)
/ / 0 (S19196).
36 47 36 40

, 42 45 . 36

(S30001) NULL (S30002),
DX (S30003) DX 40 (S30091)
DX DB
(S30004),
(S30005).
(S30006) NULL (S30007),
(S30008,30009) (
49) (S30010).
= *860 * (1- ) --——--——--——-- ( 49)
( 50) (S30011).
= *860*08*(1- )-—————————————— ( 50)
37 / , , DRAW
(S30020) NULL (S30021), DRAW
BROW (S30022,30023)
( 51) (S30024).
= *860 * (1- ) -—————————————- ( 51)
( 52) (S30025).
= *860*0.8* (1- )-—————————————m ( 52)
0 (S30026) 0
NULL (S30027), 0 ( 53) (S30028).
=( + + ~ (0.29 * )
—————————————— ( 53)

38 0 (S30
050) 0 1 (S30051,3
0052,30053) ( 54) (S300
56),

EZERT = (I7)1F + §71F) = A71A7L2 = + ((1-97]13)
+ F71%) » FUAFLEE
2V AAEE = (A71F + 719 « J7|AdEE + (-9471F)
+ 771%) « F7|HAUdEE)
-------------- ( 54)
0 0 NULL (S30057) , (830056)
1
(S30061),
(S3006
2), (
S30063)  (S30056)
39 DRAW

(S30070) DRAW

- 15 -
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NULL (S30071), DRAW BLOW
(S30072,30073)
( 55) (S30074).
71958 = ZEHY * 860 * (1-EEHEE)
FNAFsLE = F71A83 £ (0.29 * F2F)

( 56) (S30075).
F71958 = TEHY + 860 « 0.8 * (I-ZHEAES)
F)WAELE = Fr)AFE £ (0.29 * F71F)

0 (S30076)

NULL (S30077) , 40 (S30086)
0 (S30076)

( 57) (S30078).
ALY (FAG) = F7HESLE + IY2A(ETLE)
FLAEAE (BRI EY) = FWESEE + L FSEHA(FADH)

+ ALXA(ETFLE)
ALLF(FADH) = 371%F * 0.29 + ILFSFH(FASND
« ((+AE=zggAE) + 100)
FALZF(EAHEY) = F71F + 0.29 » (ZLASAH(FAS9)
- 2AAFRH(FADH) )+ (A+AE2L¢A &) + 100)

-------------- ( 57)
40 S (S30080), (
S30081), (S30082) ( )
( 58) (S30083),
( = ( ) T (60* )
-------------- ( 58)
( 59) (S30084).
( = ( )~
-------------- ( 59)
: ( ) ( ) NULL (S30
085).
( 60) (S30086).
FAZART) = TH2=x3
AY2AAYEE(YT) = EFL=ddes
FAY2ANEGY = 0.24 +EFLE 1597.5 +(0.441 +EFLENEFANFE)
-------------- ( 60)
() , (S30087), ( 61)
(S30088).
Wg8%F = F71%F + 1,2 = (74 Ay - 74 dAEd)
* (-39 ¢dE) + 100)
-------------- ( 61)
, (S30089) ( ) ( 62)
(S30090),
( ) = (Kcal) ~ (60 * At)
-------------- ( 62)
( ) NULL (S30091).
41 : :
(S30100) NULL (S30101), 45 (30174)
: DB(15) (S30
102) : (S30103).
42 : 0 (S30120)
(S30121) , 43 (S30140)
1 (S30122)
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(S30123) 43 (S30140) ,
1 (S30124) NULL (S30125
) 43 (S30140) , 1
(S30126) NULL (S30127) 43 (S30140)

( 63) (S30129) , 43 (S30140)

EREE = (A71F 2 D) « PAATLE + (1-9471F) + 371%)
s Auges

-------------- ( 63)
43 : (S
30140) (S30141) 0
(S30142) 0 (S30143) 0 ( 64
) (S30144),
= + (0.31* . )
-------------- ( 64)
0 (S30145).
(530146) , , «C ) (
) NULL (S30147), , (S30
148) ( 65) (S30149).

Ut g8 = F718 + (0.31 *+ IYZA(ET) - EgLew)
* (1+o A E + 100)
FAXAYT) = TFgL=

-------------- ( 65)
44 , (S30150)
(S30151) (S30152)
( ) ( 66) (S30153),
( )= ( ) ¥ (60~ )
-------------- ( 66)
( ) ( 67) (S30154),
( = ( ) T
-------------- ( 67)
( ) NULL (S30155).
(S30156) ( ) ( ) NUL
L (S30157), (S3015
8) 45 (S30174) ,
(S30159) ( 68) (S30160),

Y E G F((Keal/h) = 3715 + (0.31 = FEF7]) - EFLE
* (147} d| ) - Ed2=

ALZAYET) = EFLE

FAYXA(ET) = FELE

-------------- ( 68)
, (S30161)
( 69) (S30162).
WAL = F71F = (0.31 » FAEF7) - ZLFA(ET)
* (17} <4 E) + 100)
FY2AYT) = TF=
FIZ2A(ET) = HELE
______________ ( 69)
45 . ) ’
(S30170) (S30171) ( )
(30) (S30172).
( ) NULL (S30173).
(S30174)
NULL (S30175)
(S30176) ( 70
) (S30180).
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N71&5F7124 = 43}

AWEF7| = = g g

ZMEEF = 97)F + (1.2 » AYAYFE - Yr1AdsE)
« ((H7h2=HAE) = 100)

46 ( 71)

(S30190,30191).

AP E s = 75 + AYA7)F8F + WEFSF + Y7155
+ F/ 7158 + 7H57) 58

W 8- (USRT) = AB TR + 3024

138 = APLF + FXIFH

71 A EE = (dEEF + AERF) » TRV FTF

7183 (USRT) = 52713331 <3024

o obt o L
BB e

______________ ( 71
(57)
1.
2.
3.
4,
5.
(30);
(50);
(30)
(50)
(10);
(70)
(30)
ID (S1);
(52);
(10)
(S3);
(30) (50)
(30) (S4);
(50) (50)

- 18 -
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(S5);
(30)
(S6);
, (70)
(S7) :
1 t ’ 1 1 ’ CLTD 1 7
1 1 1 1 1 A t
’ ’ ) , y A t ,
, (Spec) ;
(50) DB(16)
6.
5 y ]
/ / ;
, , CLTD / /
CLTD :
1 ) 1 CLTD 1 )
, CLTD , , ,
1 , 1 y 1 , 1 , 1 ,A t
1 b 1 A t
At , At
, , (Spec)
1
YR fvao
70 50
¢
e v el |
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5

s1oo««{ =9 MO @&1

$105
§

2270l
(ID, Password &)

O
el

s~ B¥ ZRe

6

| JIZNEYR X FSHHAEN [~510000

l

| Tl B A ) |—sa0000

| =) Hml-'z—fq el |—sso000
7

| EBEE N £ F—st1000

| S miz e e f~—st2000

l

|A|ZF/EQ$I/$IJ'(|% EH%HHIOIED!I&'&NI"\/SBOOO

|$rEI/I|%/”—1i1|9_I J|= CLTDH &HEHAHI I’\/S14000

l

| wwuy=aaeen st

l
| azuwssoacen s
l

| 2E AHa B0 f\/swooo
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8
N
stioo~ =7 2S5 M2 28, 2
, FHEE, WY

$11006

g dZ8=0
SXE = YA

8=
s11005mm§§“fje§a
YXE = (S 1000)+ BAHES
UUEE = 1—%)@?; STioed

S

stoo0i|2ENRYE- A, dnx,

QAJ XA (/)

ENQAL,

l

Wees, 226, REICIOIEH Y&~

312002\/\%'%‘%4,/\} "%F"—o} J101=5t, ?_*”’FJ%I
ojduees, ) dHAAis

AlYHE2E, %aaE,ﬂElNl#,%%?—r%

l

S1o00_| LTS E (tabs) = 273.15 + 21| 4e
LIS C (tabs]) = 273.15 + 2DILHe

$12004

$12005

I3t E 0| 2=(EXP(-5800.2206+tabs

+ 1.3914993 - 0.048640239 * tabs

+ 0.000041764768 * tabs®
+ 0.14452093E-7 * tabs®
+ 6.5459673 * (LOG(tabs))))—-1000

(e : tabs — tabs1)

oY E= AJNHE>0

$12006

T 515D 2=(EXP(-5674.5359+tabs

+ 6.3925247-0.009677843 * tabs

+ 0.6221570E-6 * tabs®

+ 2.07478256-09 * tabs®

+ 9.464024E-3 *tabs*

+ 4.1635019 * (LOG(tabs))))--1000

(et : tabs — tabs1)

]

|

-+ 100)*100)
AIET|=(0.24+ 2D HHYRT)

$12007~

HSE=0.62198 * (AL UAUSTESHSI|)
+{(101.325 - AJ|HHLHNUEST * Z3HSI|Y)

+(597.5+(0.441%2) )| HLHL R T))

6
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$13002 $13003
§

Al2te Efere (SCL)=Nul |
| |

P
L
0T
$0
B
3

P =Pi()+180

Casin = sin (91 * P)

§13005—~ Cacos = cos (FIS * P)

Sosin = sin (&L * P)

Socos = cos (&ILIRE * P)
|

-

EfLN T8 = asin(cacos * s0cos * cos(0.25+(12-Al2CHE ) *60+P|
$13006~7 +casin*sosin)*180-+-Pi()

$13010

Sum=Acos({sin(solar sum * P) : Sum=Acos((sin{solar sum * P)

* sin(RIE+P) - sin(AU2E+P)) * sin(R}E+P) - sin(AU2+P))
-+ (cos(solar sum * P) =+ (cos(solar sum * P)

* cos(RI& * P))) ~ 180+Pi() * cos(RIE * P))) » 180--Pi()
EHEL = Sum * (-1) ENFE S = Sum

$13011
$13012

ARI2Z28?
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$13013—

Bl o2t

N = Ejeete - 180

$13017

§ {
IEHE’}?I Xl (sw/pv)=Nul ||

$13018

$13016—— EH 2 XI (sw/pv)=ABS(Tan( & £1 2t ) »P)

EN2E$I %I (sh/ph)=Nul a]

S1 38023

$13022

sh/ph( I Xl)=(Tan( 1< )*P)
“(cos(Y S )*P)

[~ 513021

N Nzneas
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S$14007
} §

Glass CLTD = Nul | |

Yes

$14001
514002

Glass Type=Nul|?

Glass CLTD = AIZFCHECLTOZE + ((25.56-AI2T)
tHSAP2T - (2WX+2)-29.44)
le

$14008
$14003 oof Type = Null >/ . (

$14004 Roof CLTD = Nul | |
No

Roof CLTD = AIZFCHEICLTDZL + ((25.56-&lIRE)
tHYAR2E - (YWX+2)-29.44)
|

Yes $14009
¥ §

Wall CLTD = Nul| |

§14005
$14006

Wall CLTD = AI2HCHECLTDRE + ((25.56-ALHI2E)
+HYARRE - (YWX+2)-29.44)

No

AZtSIAZ? $14010
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$15001~

$15002—

$15003~~

13

Al

JIZ2CiolE-ads AEE N MFD, +8E,
OUF, J121 (kw

ALUAEIOIE -2 DS, 29, E0l, 501,
UeAAIS Yo

l

HANMZOHOIEH-RoAH AR SUA,
SPIIEHEE AUYHSEA, WELEIH 2
ZTHE5IHE ,Glass Zone, A QD] HEE

e 2 At

815004\/\{ ZEREK)ZEY |

Yes
i 28 XIS=Nul |

2HEHCLTO=01 Z «K 2t >l WAL

Code = 2t

315010 $15007 | No
T2 CLTO=01 Kt
XISJI1ECLTOZE + Code = XIS
(Aec-allYwE)
STEOT
$15008 | No

[ CLTD=01 & #Kat+
/e[ ECLTDRE +

(AU2e-Aldexd)

No

$15012 No
Yes
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®

No

$15022—

Tl S SOLTO=R1 M «Kgt* K 2| 7| ZCLTDZL
HAUWSZ-AUYLEH)

-

A0l sl

FZE = Null

$15025 15026
R A =X A= 2 e 2t "
AI2HE & AF2I=Rt R« I 4o | arwan aoe 2g |

A2t/ 98 EHSR6I2Y
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$15031

515033~ SfcUH=R2uUH

S15040 Yes

ER214HI=0

A (E2)>% A (2H)
*EN S IX

ExRelHbi=4bl

ERe L HI=L -4 = (3H)

5 15036
AEN R TI+AE (H2)

$15037

ER2lHHI=0

SE(R2)>4 (21

*EN 29I X|

$15038

KelUbl=Ubl-+2(21)

*EH P Xi4+4= 2! (R2)
N

®

Exraldbl=4dl

-~ 515039
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16

ZE e (142)>0
= BHEAXI0

$15051 Yes

§15052~ ER2=0=RalE&0l

ER/el=01=0

SE2>4T

*EH 22 X

ERcl=s0==0-+=(21)

*E 29I Xl+4= 2 (H2)

$15055~

s15058— S

@ No $15059

Yes

®
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$15061

I121(w/m?)=0

HES (w/m?)=0

LIS RSt A£US T=
HAZAAFF E= SHE#ANUI]

e satuel

=01

$15063
QI X=0

stsos—| eimeeiar | |em-ameeis osis0e

|

$15066

U

Yes

15069«*( 121 (w/m® )=l | 2121 (w/m®)=
(212182 8kxHA ) 1000

)
$15068

w/m?)=
28+HF) -+-1000

[~—S515071

om,\

(F_
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815082\/4§0185(t)=275. 15+ 01

515084

$15083

Alde>0

$15085

B 1 2k=(EXP(~5800.2206 <t

+ 1.3914993 - 0.048640239 * t
+ 0.000041764768 * t*
+ 0.14452093E-7 * t°
+ 6.5459673 * (LOG(t)))~+-1000

B]=(EXP(-5674.5359 -+t

+ 6.3925247-0.009677843 * t

+ 0.6221570E-6 * t*

+ 2.0747825E-09 * t°

+ 9.464024E-3 *t*

+ 4.1635019 * (LOG(t))))--1000

l

$15086-

S E=0.62198+( & LALLM THST+P) +—
((101.325-AJ LH 4 Bt & CH & = *P +-100) *100)

$15088

$15089 @
§

Yes

[ AE=p A DeE |

H==0

$15087

2 271=0

H==8al2l0}

$15092—

HYULAJ(BF)=0.24+1. M (L AP R=-M LY T)
AUAD| (B H)=1.2+597 S+MEB+(RUS=-AET)
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S17001~/‘| Jl200le, ARAHMI0IEH, NI&E%GIOIEII

!

S17002«‘,

©

gagsKI2Y
|

S1700

§17010

AN =12

$17012

Yes
2 H 4=1.05

Code=XI g FE
9 2I=NE =NE

17007 o

UP=SE=W

S17011

LA +==1.5

$17013

SR H 4=1.1

$17021
$17025

§

i =01 & wK g w2t 9 | 2
(LA E-
HJEQQE

<om- 5
: No

Code = X &

$17023

S$17024

= MK

S17022
$17026

s [ E=BIF KB AN &
M(HYALRE-

uwa;ez

@

Yes
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YN 2=1.2

9 H 4=
No $17039
$17035 SANESSE T gt

No

FE| ME=BIE KA+ H >
S17040— (LAl E-
HUAHIRE

No

ANAZ=E 22?7

$17041

S17052

$17053 @
§

Yes $17054
lum-e=amaae|
|

HE=8e2]|

YA (U Y-8 H)=0.24%1.2+H &
—(AUHUSA IS -AAUHAIRT)

) No @ $17057

Yes

$17056—
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23
]

JIZ2CI0E-32HS , BX) 4,33, 665
NSROIE, YA tHE80|, 44232,

[~ 519001
ALY LRSHO0IERE

S 192003

e

L2 S 5l=At 2 (B )+ALRH(E )

515004 +ESHINH((HRHE B) -+ 100)

ondr
44
[e]fe ]

ig

§19002

HE(HF)=ES((1+2AHE)-+100)
*(ME 252 -+-100)

- ‘ | @

21=Code = NuTl $19005
$19006 ™Mo 519009
oo~ Yes [NTENED/DL=5OE
(ROOF/HROOF) [
S1007 oo 519010
NEEPERIEEELEE
(WALL/HWALL ) B
S19008 ™~ o $19011
] AN IR
(PAT/HPAT) ]
0
Yes $19012
(o]
NEEEREIEEEREE
(GLASS/HGLASS) |~ S19013

No @ 519014
es



S19026

$19027 $19020

§

BED| QI 2= 5l =WALL*
((1+e+& ) +100)

2 W Bt Bl= A 2HE W BHE B

HPAT*((1+2tE ) -100)
LR 5l=A L 5|

+HPAT*(( 1+OHE &) =-100)

S19021 519028

$19029

§

. X1 8 & & 5 51=R0O0F *

((1+etE ) +100)
X S & 2 5H=HRO0F*
((1+2t & &) +100)

Sl YU ol=Al 2t E UG

FEl U S El=Al 2HE LS

$19023

$19030
§

+HGLASS*( (142t & &) +100)

I(sd)=N2EdSY
foHa g el
BAAI(FH)=Al2tE Hat
f2oHAY0(FE) []
YA Rol=AlH LY
£o+al e eld)ol g

519025

ANZR=2AE7?

$19032

S0 mews-msey

S HY Y RI=Al 2 HE YL 252 2/ CH 8t

519042

BNOB=(AYH BB ELYABHENE)
HEHO BA B

L

r

QIR E=(MEI I 2+ HOIR)+BED|

S R5IS=(MUSEI S S+AHYZ )+
AIE%%Q-‘?—ﬁ@#é%%i)l—?%‘*/\laﬁé
+ BX)| S #

519044——~

~go gt
SRS E=(AEBII S NEUSRRS)+ B 4B &
27| 4z o

HYSoE=(dY3 .’ENQ*Q“‘”%‘—?—OH.%

gdYRst)

 =3al &

®
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$19052

B Rs=AE Yy
ool g-As e

BUSs=RALE &

Hgssl=tgestol &

$19053
§

BYLBI=AlZE Y YL 5 O]
EHOA-RSEH

Ages-RaLsol

L esl-U el 8

(Bg+TH)=0

519065

dogsg-l|| | SYSS-LLVSSAAA-100
HY S E=LYUE 832100
| $19068

4D 2éAt=Nul |

—~— S$19054

519073

WA AAt=Nul |

2 B 2AL=ABS

S$19072— (Y7n-&3)
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HEI=018
No
HE U=

$19083 ! No

HEDLAt=Nul |

Yes

e 22At=Nul |

ol RYA=NuII|
oHE B=Nul |
$19091
$19092
FEEEE
gszog |
or™ g=ol2igt
UEDSE=Null
0l DYAt= S19008
ABS(7-&7) No
gggy=g/2igt
orE g=ol2igt
UER2T=02Y
ég 02 2 LAt=Nul |
$19007 orEg=0l2igt [~ 519099
UEI2E=Null
I

®
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29

g ag=gis
No

§19101

b DAA=Nul I

otE Z=Nul |
NERU=R % $19102
$19108
§

b DUAt=Nul |
gZe=Qledgt | |
OtM g2=0|24 gt
AEA2E=Null

7hE BYUAL=
ABS(JR-&=7)
=Nl

OtE 8=0) 2 3t
EDR =022}

815}107

DI IAt=HE2 T
otXE=03gt |~—S519109
gEA2E=Null

I

S19128

$19133

§

szolee-w |FESNEE,
(0313012
$19131

$19129

201y "t

HioIg Y=gt

-
DOhe 2F=tH 7| 2l 24 gt
2101 &=3 71 8-t D| &

$19126

[~ §19127
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31

e BLAt=Nut! $19140

No
| ausso-maaum |sto
-

§19143

. No
S S=AI2tE S L GHE CH gt
+(0.09% HAL)

S ®

[~ 519145

32

?

REHSH=371&+3I7| MH--36720
*DESE2EAES

I~ $19150

S19157

$19151 20| H=BLOW(LH/ 2]

$19158

SO HAt=2E| S 1t

oEsagoge 2xg [ S1918

S19159

I BAt=((2E S )=1*
(1-2EI S 8)+860%) |—
+(0.29+201 &)

=1 B=DRAW(2!)

SOIBAt=((2E SE+1)*
(1-2E &8)*860+0.8)}~ 319156
+(0.29+371&)

e

! -
ZEdY2o=dU2 - A -TH SAt-3 1 BAt
BUHR2X(TA)=T+273.15 I~ 519160
BHURZ1(TA)=4Y2&+273.15

®
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33

7

Z 3| 2 1=(EXP(-5800.2206 +TA1+1.3914993-0. 048640239+ TA1
+0.00041764768+TA1° -0, 14452093E-7+TAT®
+6.5450673*(LOG(TA1))) ¥ 1000

BH&T1=0.62198*(H LA NS T+Z I+ ((101.325 —— 519161

“HYANNSS+S12=-100)*100)
T 1=(0. 24+ H L 25 )+((597.5+(0. 441+ ALY 2 C) I+ BB E1)

i

| 251201 212=(EXP(-5800.2208 _TA+1.3914993-0. 048640239+ TA
+0.00041764768+TA> -0 14452093E-7+TA
+6.5459673 (LOG(TA)) }) - 1000
HOHS So=((1-3 @Y )« |+ 507.5-(1-& & Hl)
%0, 24 T+ SAHS I BAL) + 597 5-B S E) [~ S19162
= ((1-S | )*(597 .5+0.441* (T+ M SAt+2 7| FHAL))
HBDIIMUHSE=(101.325+BUHS E2
+(Z712:2+0.62198+E [H& £2) ) *100

2I1&=0
8| =0

{
$19164

S19172

§
EJI 2= x| (gt o &-
$5t8H- (0,29« L YAL)
| & Z 2= Al 2t 251 2| CH Bt -
=+ (0.20«A1 H 251 2| (W3t 2 8t

$19173

"kr!

-EB)“(O 29+2D| &)

EDI%EAI?_PE_%!_“JEU@PJE‘—
S5HEH+ (0.23%H WAL) No
eaxwg% (Alawwarﬁua—
5)-+(0.20+271 %)

L

BII%3-20| P A LR O E
S19174-7 S EREEE]
|

19175 ~< A B H A EZH 108

No
AESIIS=AEAMSY
S19177—| &S 8D | S=alEH L 2 -
HHOI 2Dt e

$19176

No $19179
| eoim4=zo12-eim-a0 |~ st

ko @ $19181

Yes
HUSEA=USRUA T ABANE
MR =| R UHT B+ INS
S gsh=-gzm s S A
Sl HE A=) | A HUBOIH S
S| HE e s=l2A Mot sh«Z | MY e [~ 519182
B Y =0l A MOt Bl+OI N B
S| HEIE H= AT AIBH AT BT O
SEHEF =S I AEH+S I A A
E)HENG=8)|HEFHAE I
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2/8018=0

$19191

g

JIHES
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et

&
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=100
2ot E +100) <100
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(
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le
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E83IE2=Null
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S30061 Yes
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EE3VIEUET
=2DIE0SE
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y $30056
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»Eller
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2DNBUEEH(1-218)+201¥)
*BIBUSE
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$30071 2aas=Nl|
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*|

=
$30075~ 53

Yes

S30076
$30077

DY SYA=Nul|

ETIpee ETES
ANl | aiggéa 85+='%xa(§;)$m
BASH(LH)= ) L 330078
*
DURY(FO)=2I12+*0.29+(DY A5t (L21)
-DUAMSAH (DA ) ((HHSEDLOEE) +-100)
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